
UNIVERSAL

SIDE ACCESSORY PANEL

Thank you for purchasing from Victory 4x4! Checkout our website, victory4x4.com for other great off-road 
products. Be sure to rate and review our product online. If you have any questions or are missing parts, please 

don’t hesitate to call us at 269-459-8447!

INSTALL INSTRUCTIONS

Please read the mounting instructions below carefully before attempting to install.  

Be sure to check out the install video on the product page, if available.



INCLUDED HARDWARE

8x

8x

1/4"-20
Serr. Flange Nut

1/4"-20 X 3/4"
Button Head

1x

1/4"-20 X 3/8"
Button Head

9x
1/4” ID
Washer



INCLUDED PARTS

1x 1x

1x 2x



1 Start by loosely mounting the two hinges to the four slots in the bent 

bracket using the 1/4”-20 X 3/4” bolts, 1/4” ID washers and 1/4”-20 serr. 

flange nuts. It doesn’t matter which side of the hinge as long as you put 

the flat side of the hinges on the bottom of the bracket. If you plan on 

using the friction adjustment on the hinge (the extra screw in the middle 

of one side) then it may be best to mount the side without the friction 

adjustment to the bracket.

INSTALL ATION



INSTALL ATION
2 Next, attach the panel to both hinges using the 1/4”-20 X 3/4” bolts, 1/4” 

ID washers and 1/4”-20 serr. flange nuts. Make sure that the flat side of the 

hinge is against the back of the panel.



INSTALL ATION
3 Next, mount the suction cup on the backside of the panel using the 

1/4”-20 X 3/8” bolt and 1/4” ID washer. Make sure the button is pointing 

straight down.



INSTALL ATION
4 With the panel assembled, it can now be mounted to the roof rack. To do 

this, determine which two cross bars you could mount it to in order to 

position the panel over the rear window. Then, remove the bolts from the 

one end of the crossbars and use those bolts to mount the panel to the 

side of the roof rack and back into the bars. Position the bracket so that 

the panel is right over the rear window, then tighten it fully into place.



INSTALL ATION
5 Finally, once the panel is positioned horizontally, make any adjustments 

necessary to the angel of the panel or position of the hinges in order to 

get the suction cup to sit as flat as possible against the window. Once it is 

where you want it, clean off the window and then press the button on the 

bottom of the suction cup a few times secure it to the glass. Then go back 

and fully tighten any bolts left loose earlier. 


